


152. 7R 5% Pt i B 13 &
I A VA N %
1T - -
i 5 5 i H 5
TRk 24, 12, 16 83, 307 39, 706 43,651 52, 048
26, 12, 14 83, 135 39, 412 43,723 46, 299
29. 10, 2 85, 186 40 141 45 039 45 612
BE BREEHEESHER
153. 2k ik Pt i B 13
e & % &0 i
7 w WA ¥
iy 2§ by gy i 2}
TR o4 12, 16 83, 357 39, 706 43, 651 52, 061
% 12, 14 83, 135 39, 412 43, 793 46, 295
29.  10. 22 85, 186 40, 741 45, 039 45,614
ik EREHEESEmER
154. = i Pt ik B & ¢
. - o P2 N ¥
7 A 5 7 I P 5
YRk 22. 7. 11 84, 036 40, 308 43, 728 50, 801
25. 21 83,635 39, 788 43, 847 46, 806
28 7. 10 85, 131 40, 373 44, 758 47, 651
TR mEE I HFE
155. = i Pt ik B 2 &
5 o = re g 0N T
! @ i 7 I @ i
Mgk 22 7 11 84, 036 40, 308 43, 728 50, 794
25. 21 83, 635 39, 788 43, 847 46, 799
28 7 10 85, 131 40, 373 44, 758 47, 647
R EREHEESTHER
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BELRDL (VhEEEEX)

T VN i 5 £ (%)
5 % i ¥ 5 %
29, 010 27,038 62. 40 63. 00 61.90
22, 369 23, 930 55. 69 56. 75 4. 73
21,988 23, 624 53,17 53, 96 59, 45
IR (EPIRER)
® % K (A f = (%)
5 K @ 3 5 %
25,015 27, 046 62. 50 63. 00 62. 00
22, 365 23, 930 59. 69 56. 76 54. 73
21, 986 23, 628 53.11 53. 96 52. 46
BERDL (EZEX)
= H % (N) 54 ) == (%)
Jj 1 # e U] 1
24,411 26, 390 60. 45 60. 56 60. 35
22, 655 24, 151 55. 96 56. 94 55. 08
22,946 24,705 55. 97 56. 84 55. 20
IR (BB
= # ' (N) & = R (%)
5 48 e e 5 58
24, 409 26, 385 60. 44 60. 60 60. 34
22,648 24, 151 55. 96 56. 90 55. 08
22, 941 24,706 55. 97 56. 82 55. 20
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156. JF 1 FH 5=
o H e = u (A)
AT HE A A — " — "
# n i 1’8 = u
SERk 16, 2. 1 79, 866 38, 282 41, 584 36, 202
2. 1. 27 82, 555 39, 538 43,017 45, 280
923, 11. 27 82, 495 39, 361 43,134 50, 151
27. 11. 22 81, 853 38,678 43,175 38, 206
G BmEEHREESTER
2 A 2 =
157. JFﬁZ A =
oo AR H e = G (N) i
R ” e "
o Gy 5 £°8 # b
TR 15, 4. 13 79, 403 38, 009 41, 394 35, 997
19. 4. 8 80, 807 38,619 42,188 36, 951
93, 4. 10 82, 872 39, 621 43, 251 36, 718
27. 4. 12 81, 415 38, 463 42,952 36, 944
Tl RHEHEESEER
158. T e
- H b = be (N)
WAT 4 H H — — — — —
Ha Bg 5B £’ A Bg
SRR 19. 4. 22 80, 718 38, 575 42,143 —
23. 4. 24 82, 547 39, 423 43, 124 42, 608
23. 12. 25 82,475 39, 361 43, 114 30, 292
27. 12. 6 81, 900 38, 698 43, 202 36, 746
TE EREHEBEESEER
199. M & = & B
- H Fe =4 Py (N) B
AT £ H H — — — o "
A 2 %, £28 A £
SRk 15, 4. 27 79, 365 37,983 41, 382 41, 528
19. 4. 22 80, 718 38, 575 42,143 39, 923
23. 4. 24 82, 547 39,423 43, 124 42,615
97. 4. 26 81, 315 38, 417 42, 898 42,085
EE EFEHEESFHER
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N
21 *H (A\) % 2} (%)
5 I o b 8
17,207 18, 995 15.3 15. 0 45.7
21, 230 24, 050 54.9 53.7 5.9
93,573 26, 578 60. 8 59. 9 61.6
18, 480 19, 726 46.7 47.8 457
hY N\ )—h E Y
15 5??3 jfi: S 3t*(
2 (N) Ei'e 2 (%)
B £°e P L8
16, 535 19, 462 45. 3 43.5 47. 0
17, 301 19, 650 45. 7 44. 8 46. 6
17, 538 19, 180 44. 3 44. 3 44. 3
17 567 19,377 45. 4 45.7 45. 1
HE 3
= o
= (AN) Ei'a 20 R (%)
Vs, gy A 2 £°8
19, 814 22, 794 51.6 50. 3 52.9
14, 348 15, 944 36. 7 36.5 37.0
17, 083 19, 663 44.9 441 45 5
N AR} }—LA Y
LI S 7N
= (N) £t = (%)
Y Ly 5 L8
18, 850 22,678 52.3 49. 6 54. 8
18, 230 91, 693 49. 5 A7.3 51. 5
19, 818 22,797 51.6 50.3 52.9
19. 423 22 662 51.8 50. 6 52. 8
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160. ¢ T2 [X Bl % gk & 2%

WA A 9 H 1 HIAE
R & Y& E X R K 5 2z
Rk 25 4 83, 304 39, 564 43, 740

26 83, 066 39, 411 43, 655
27 82, 906 39, 282 43, 624
28 85, 267 40, 471 44, 796
29 85, 835 40, 779 45, 056

1 MR RS 5, 087 2, 306 2, 781

5o FH = fH 1, 818 864 954

3 ala=T7 4k H— 2,120 996 1, 124

B4 s = = W &= f§ 3, 327 1, 497 1, 830

5 o M OB ORI M o= fF 3, 299 1, 611 1, 788

F6 Miaa=T sk H— 730 315 415

=T R # fiH 953 437 516

8 A #h = fF 1, 069 496 573

O XY /T KRIKELE 4, 691 2, 2b5 2,436

10O v Hh M H 4,909 2,474 2,435

11 AL & B /R AR E LE 2,978 1, 435 1, 543

120 v F oy — 7 T W 4, 263 1,990 2,273

w13 A & db = fF 2, 896 1, 356 1, 540

14 H o ow® Jb &= fF 3,176 1, 510 1, 666

15 T C R E Ay L 2 4,715 2,184 2,531

16 /iR BH i HE 3, 239 1, 518 1,721

(== N O N ¢ B~ S = 3,074 1,451 1,623

F518 fE = = fH 3, 176 1, 546 1, 630

F19 7 kX L 2B 4, 037 1, 948 2, 089

20 HX = = fF 3, 801 1, 766 2,035

H21 F Pre = fF 3, 539 1, 669 1, 870

o2 B B M = fF 1, 263 684 579

23 KB HBAIa=T -1t 2,047 925 1, 122

5524 £k &% = fH 4,107 1,973 2,134

HEob M W db = fE 3, 332 1, 766 1, 566

o6 B A om KR = E = 3, 538 1, 703 1, 835

FEoT %= S = £ 613 303 310

H28 IR J2 = G 1, 326 607 719

29 KB BTt i-F2atl 2,712 1, 294 1, 418

TE EREHEAEREER
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161. BRSO

48 e %2

\

Tt

™\

e 5 A IR phapmmos] BRERIER | R | BAIER
46, 538 14, 537. 2 12, 162. 2 6,073.9 5, 387. 2
100. 00 31. 24 26. 13 13. 05 11.58
Bkl B o | nank | T | o L mRE D o
CX D) 5. 080. 2 747. 9 590. 5 585. 0 197. 0 343. 5
(CERk284E 7 H10H) 10. 92 1.61 1.27 1.26 1.07 0. 74
e (%) B | o e LB
340. 2 193
0.73 0. 41
T 1 %) Px 25K A | O AREB DO | s B || AW
45, 006 13,917 10, 776 7, 905 4,672
S atPeat BRI 100. 00 30. 92 23. 94 17. 56 10. 38
(Lepifk32) HAIGE S | WO | Mk | bl
(294210 H 22 H) 3, 706 3,112 790 128
HEE=R (%) 8. 24 6. 92 1. 76 0. 28
TE EREHEESEER
A3 =N
162. = Ik B & A K
WiRr A 5H 1 HHAE
£ |zl n B ouliRs ARy ang [Basesris 5 A PEIOE G s 5o merE
T Rk294E 22 22 5 4 3 3 2 2 2 1
CE EAEFEER
IEA Tk = 5 K
163. 4 i P g Wl ik B 2K
=R VAN 5H 1 BBE
% Pl ol B oE OB F)
HE%
F o BRI 2b ~130 ~ |35 ~ |40 ~ |45 ~ |50 ~|bh ~ |60 ~ |65 ~|70 ~|75
29 34 39 44 49 H4 59 64 69 74| UL B
IRk 29 & 22 22 — — 1 4 1 2 2 5 4 3 —

g R HEER

164. BT K ONER Jay Bl ik B 2

4 J 1 H ERAE

AL o AN —
TR = =
+ S e B N Fe R | ez mer | mmsosms | o maies | s
SMEER 25 4= 5 1, 150 405 13 o8 115 519
26 5 1, 173 409 12 99 111 542
27 5 1, 174 406 11 99 112 546
28 (&) 1, 155 398 13 102 110 532
29 6 1,169 402 14 102 108 543

TR HRAE AFR ORIRERE K OFHME R RS 2R <
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HAL . A

DS E I T Ea E R Y
(SR =

PRk 25 4 1, 150 266 176 127 96 17 25 417
26 1,173 277 170 122 96 16 23 440
27 1,174 288 167 112 96 16 23 445
28 1, 155 285 168 109 100 17 22 432
29 1,169 286 170 107 99 17 20 446
m & & = 29 23 — 3 1 — _ _
W F R 7 4 — 3 — — — —
N 4 4 — — — — — —
A HFE 11 11 — — — — — —
fin #% & PR R 5 4 — — 1 — — —
w oA B E O 27 24 1 — — — — —
B R IS R 5 5 — — — — _ _
M B @R 8 7 1 — — - _ _
g OPE s AR 4 4 — — — _ _ _
Hi sk 53 HE - 18 AR 4 4 — — _ _ _ _
tF - 4 4 — — — — — —
e % B 39 36 — 2 — — — —
w® F 8 6 — 2 — _ _ _
K AR 4 4 — — — — — —
T 17 17 — — — — — —
AT 6 6 — — — _ _ _
TEHERNY & o & — 3 3 — — — _ _ _
m R £ & & 30 29 — — — _ _ _
R S K 12 12 — — — — — —
el SRTAY 14 /= 10 10 — — — _ _ _
7% W - Bl iR 5 5 — — — — — —
H8e 1E ME AR 5 5 — — — — — —
NHE - AR 6 6 — — — _ _ _
NMESALAZ W o & — 1 1 — — — — — _

Wi

Iy

B iRAE AFHR. REBORE BORIAHRER

a
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Ik = 24

8 4k
il

\

S S E -

B 55 il 74 12 11 50

B OB B K AR 8 7 1 —

B B 3 2 1 —

N A E D 6 — 6 —

K H— 31 2 — 29

7Y = — 25 1 3 21

& ik il 53 49 2 —

1 B - R RS TR 6 6 — —

B TE R Ak R 10 10 — —

B 25 W e b GR 6 6 — —

I R BR R 7 7 — —

Hoodl S B2 AR 3 2 1 —

E R - F ek 12 11 1 —

R B E PG 7 7 — —

FEH - BEE 99 17 79 1

T EL - EE BRI 3 3 - -

T B T XER 7 5 2 —

Rk B R 64 6 57 1

¥ S PR 3 2 1 —

fdt R My i AR 17 1 16 —

R B 29 2 T 3 — 3 —

o g R E 46 8 36 —

EFH5 Y - ZZEH 9 4 5 —

R 12 — 12 —

# A e R 11 1 10 —

BB - )R 12 3 9 —

= B B OB = 5 5 — —

m s FEB R 9 7 — 1

K TS B 2 3 3 — —

Be & F B = 2 2 — —

NVEEFHR — — — —

[ 7 P RV 5 A N _ _ _
z= =t =

167




- I
<o | BRI wswowfe melwow| T N AlE omm |
i
HE X A= 108 34 3 31 — 17 20 — 3
A S 33 14 1 16 = - - - 2
WIS« S ik 16 8 — 8 - — — — _
7 i 45 & R 5 4 1 - — — — _ _
FAGRE 4 - 10 2 — 8 — — — — _
BHOF W 40 20 2 — — 17 — — 1
AEBRR 3 - E — — 3 _ _ _
2o B O 6 3 — — — 3 _ _ _
FIHE TR 6 — 1 — — 5 — — _
HEkE ¥ — 7 — 1 — — 6 _ _ _
AR SR HE R 6 6 — — — — — _ _
o R 4 4 — — — — — _ _
X FfE 5 5 — — — — - _ _
JRE 50 BARE B 2 2 — — — — — — _
FRATHHE 35 - - 15 - - 20 - -
2N R 10 — — 10 - — - — —
S O 4 5 - - 5 - — — — E
N 20 - - - - - 20 - -
£ T ok E B 77 21 38 16 - — — - 9
woB 5 5 — — — — — _ _
T 6 4 2 - — — — _ _
"X R 4 4 — - — — — — _
iR g 8 8 — — — — - _ _
K T % 15 — 9 6 — — — _ _
Y N 13 — 5 8 — - - — _
KB E R 7 — 7 - — — — _ _
TKE T3 9 — 9 — — — — — _
™ K AL B 5 8 — 6 2 — — — _ _
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Tk = o (03%)

I =S

< | IR e gl ol ow | Ve oA|E ;o
= I 7B N - 102 — - - 98 - - -
wo B R 9 — - - 9 - ~ -
TooB @ 5 - - - 5 - - -
® Ui 10 - - - 10 - - -
W1 R 18 — - - 18 - - -
%2 i wR 19 - - - 19 - - -
%03 fm wR 18 — - - 18 - - -
TS B 19 — — — 19 - - —
o HOR Br 466 16 — 3 — — — 446
woBq 6 5 - 1 - - — -
(- S 4 4 — - — - - -
= % PR 4 4 - — — - - -
T 3 3 — — - - - -
= % R 448 - - 2 - - - 146
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